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[7] 3. Evaluate /:1:‘2 cosz dzx.

_ ~ —
\umx, v =cos X, “""'*““‘*’q

f"z cocx dx = XTSm X -f2x sinx dx =

Welx, v = fix, v = —cox)
— xz'&'v\.x - (?_x (*Cos K) - fl(*cm‘ K)dx =

mxlﬁux + Lx cosx '“j?. carx dx =

:::)(15\‘\&)('(' Q-X Cos X - 2‘“"\-’( + C_.
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[41 4. Use_the traoezoidal wle with 1 = 4 intervals to anoroxiroate the value




[7] 5. Solve the differential equation

dy
AR
dx VY

with the initial condition y(0) = 4.

J_g, '::.)('\‘C
‘a(O)mL\. =) \I_T =0 +C =) CmL
J?-::x*r'l_

5‘@ = (x+2)

2.
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